print("Tapez un nbre")
texte = input()

deci = int(texte, 16)
print(deci)

print("Tapez un nbre'")
texte = input()
decimal = int(texte, 2)
print(decimal)

print("Tapez un nbre'")
texte = input()

deci = int(texte, 10)
b = bin(deci)

print(b)

print("Tapez un nbre")
texte = 1nput()

deci = int(texte, 10)
h = hex(deci)

print(h)

print("Tapez un nbre")
txt = input()

dec = int(txt, 16)

b = bin()

print(b)

print("Tapez un nbre")
txt = input()

dec = int(txt, 2)

h = hex(dec)

print(h)

print("Tapez un nbre")
texte = input()

deci = int(texte, 16)
print(deci)

print("Tapez un nbre'")
texte = input()
decimal = int(texte, 2)
print(decimal)

print("Tapez un nbre'")
texte = input()

deci = int(texte, 10)
b = bin(deci)

print(b)

print("Tapez un nbre")
texte = 1input()

deci = int(texte, 10)
h = hex(deci)

print(h)

print("Tapez un nbre")
txt = input()

dec = int(txt, 16)

b = bin()

print(b)

print("Tapez un nbre")
txt = input()

dec = int(txt, 2)

h = hex(dec)

print(h)

print("Tapez un nbre")
texte = input()

deci = int(texte, 16)
print(deci)

print("Tapez un nbre'")
texte = input()
decimal = int(texte, 2)
print(decimal)

print("Tapez un nbre'")
texte = input()

deci = int(texte, 10)
b = bin(deci)

print(b)

print("Tapez un nbre")
texte = 1input()

deci = int(texte, 10)
h = hex(deci)

print(h)

print("Tapez un nbre")
txt = input()

dec = int(txt, 16)

b = bin()

print(b)

print("Tapez un nbre")
txt = input()

dec = int(txt, 2)

h = hex(dec)

print(h)



